Nalanda College. Colombo
Revelation Test - 2020
Grade 10 — Mathematics
Paper 1

N

4

Answer all the questions. Time — 2 Hours
Part A

1. 10% Duty is charged when importing perfume bottles. Find the amount of duty to be paid
when importing a perfume bottle worth Rs10,000/=.

2. Find X
30°
X (0]
3. Factorise 4a? — 1
4. Express 32 = 9 in logarithm form.
5. 10 workers complete a certain task in 5 days. Find the number of days taken by 5 workers to

complete half of that task.

6. Find the perimeter of following sector of the circle.
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7. Simplify ~  3x

8. Find length of BC

A
X Y
12cm
B C
9. Mention the angle which needs to be equal, if these triangles are congruent in the case AAS.
A D
B CE F

10. Mention 541.2 in Scientific notation.

11.  Function of a graph is y = —2x + 4. Find the gradient and intercept of it.

12. Find the solutions of following equation.
x2+x—-6=0

13. If&€={1,2,3,45,6} , A’={1,4,6} , B={2,4,6} mention the elements of set A.

14. Find the common difference and 10" term of the following sequence.
100,90,80,...
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15.  Find the least common multiple of 2x2, 4xy, y2.

16. Find X and Y.
50°

\Yo

17.  Evaluate [g25+1g8 —Ig2.

18.  Shade (A’ n B) in the following Venn diagram.

(@l
C.

19.  The speed of an object which travels at a constant speed is 60km/h. Find the speed in m/s.

20. 3,7,8,7,9
Find the mode of the above data distribution.

21. In a Right-angled triangle, the ratio between acute angles is 1:2. Find the magnitude of large
acute angle.
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22.  The angle bisector of ABC is BD. Point O is equidistant from AB and BC and 5cm away
from B. Mark the point O using your knowledge of loci.

A

D
C
23.  Simplify.
3x+1 c
=

24, Bearing of B from A is 120°.Find the bearing of A from B.

25.  There are 25 identical balls in a bag. Some of them are red and others are blue. If the
probability of taking a red ball out of the bag is % find the number of red balls in the bag.
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Part B

1. Sahan gave 43 of toffees he brought from overseas to his brother and 31—to his sister. 51 of the
remaining was delivered among his friends and he kept the rest for himself.

a. Which fraction of the total toffees was delivered between brother and sister?
b. Which fraction of the total was delivered among friends?
c. Which fraction of the total he kept for himself?

d. If Sahan kept 60 toffees for himself, find the total number of toffees he brought from
overseas.

2. Length and breadth of the following rectangular shaped garden are 20m and 28m
respectively. There is a semicircular shaped pond at the corner of the garden and the diameter of it
is 28m.Rest of the garden is a lawn.
» B
28m

A< 20m

a. Find the perimeter of the semicircular part.
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b. Find the area of the lawn.

c. Find the ratio between the areas of pond and the lawn.

d. The owner of the garden wants to add a rectangular shaped part to the garden by taking
BC as one side of it and as area equal to the semicircular pond. Sketch the rectangular
shape in the diagram with measurements.

3. (). Kamal took Rs.25,000/= loan from a bank at 10% annual simple interest rate. After 3
years he settled the loan by paying Rs 32,500/=.

a. Find the interest he paid for 03 years.

b. Calculate the interest he paid per year.

c. If Kamal took the same loan amount from another financial company (without taking it
from the bank) and settled it within 02 years by paying the same interest amount, find
the annual interest rate of that financial company.
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(i) 10 Workers are assigned to complete a certain task in 10 days. But in first 5 days only
05 workers attended the workplace. How many more workers needed to complete the task
in remaining 05 days.

4) e ={X:X isaninteger,0 < X < 10}
A = {Square numbers less than 10}
B = {0dd numbers less than 10}

a. Represent above sets in a Venn diagram.

b. Mention the elements of the set (A U B)'

c. Findn(B")

d. Mention the elements of the set (A N B")
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4. Following Pie chart shows information about favourite fruit of grade 10 students in a certain
school.
Mango Apple
180°
0
Grape
Lemm
a. Find x°

b. What is the favourite fruit of most number of students?

c. If 10 students like Grapes, how many students like apple?

d. Express the number of students who like Mango as a percentage of the total students.
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